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I am the second witness; it is disqualified — HI0D "I 7Y RIT IR

OVERVIEW

WX 27 ruled if the m°5w said ¥ 17"1921 1712 5"192 and I am the second 7y, the 03 is
700, The reason is because the v3 is either authenticated through arp, or it is
authenticated through the 11"Pn (of saying 1"521 1"53). Previously wX 27 maintained
that by ¥ 1"192 and the 5w and another person recognized the "1w 7v it is w2,
because (as "WX 27 said) 7109 121 RNWT WD 191 1°KT 7°n X2°KR . This means that if
the other 7°nn is properly authenticated (and not by 1"192) it is 7w>3. Our NBOIN
explains how this case of *wx 27 is different from the case of X21.

MooIN asks:
— 9109 MY 7Y NIN 2N 9INRT DIVNI U OHNI 2292 919N ITINT 27919 NION ) 9NN ON)

And if you will say; and is there such a thing that if the m°%2 would say n'"i92
912, it would be 2w, and because he said, ‘I am the second 7¥’, it is 91e9?!"!

MooIN answers:
— AP YN DU 5IW 1Y NN SIN N 29T HINYYITA IMINY 1 PNYY 13532499 NN

And it is the view of the "9 that the reason for the ruling of *¥X 27 is as it states
in "%wy9° 750, that when the 75w states, ‘I am the second witness’ he has a

vested interest in his testimony (which makes him an 9109 7¥); his interest is -
— 100N MY DOPNNY 215 YN NNINN Y PYNY NI 79597 INIT

For it seems that he is specially coming to testify on the signature of the
second 7V (the one for whom he is saying 1°¥11 1"192), in order that his testimony
on his signature (12 7Y X7 °1X) should be upheld.

mooIn asks:
e rarkeih) orpa 1219 IN DIVN 919919 15D NN NIN 25N DIYVN NNAYOT 1179) 9NN ON)

And if you will say; and since the reason the % is not believed to say 7v X7 IR
1w, is because of this concern that he is 1M17v2 ¥, why was it necessary for 219
WX to state that the reason it is 9109 is because vam 21Pa 910 N, etc.?!

(1) 79 97 3R is a valid o1p (just as P 7 02w). Therefore, just as in the case of X231 the b3 is w3 according to 27
WX (and we do not say 11"pna 1215 W vxT 0P 1219 W), the same should apply here. >3 79 X7 *IX is no worse than
1212 11"192 (just as 27y D°IW are no worse than 1715 1'"192).
2X"72"0. It is on X,” 77 in our *»9w1 texts. [The 117 does not mention "1 BT DP2 1913 . ]
? The oW, who states 1w 7v X7 °IR, knows that this testimony is not sufficient, therefore he may add that 1°xr 1"193,
in order to substantiate his original statement of 1w 7¥ X7 "1X.
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N1B0IN answers:
— 10N 0PI INT NNPYL IND IR AT NI 919) NPV INDT DIVN 99D U

And one can say; because N17v2 ¥211 alone is not a sufficient reason to make the
9100 3, if not for the additional reason of ¥am 212 1915 IR, because -

Lwmnm m1ya ¥y Nt PNRT
This is not exactly a case where he is actually m7ya yan.’

SUMMARY
The 03 is 9109 if the %W says "W 7Y X7 °IRY 117 11192, because he is partially van
m7va and (therefore we say) 191 U7 QPP 1710 K.

THINKING IT OVER

1. m901n concludes that the 5w is not a Wnn N17Y2 ¥a1 and therefore that is not the
reason why it is ’7109,6 similarly the reason of 121 VA7 012219210 X, is not sufficient
either, as MpoIN asked in his initial question;’ so why indeed is the 7105 v3?1°

2. mooIn explains that (part of) the 2109 here is because the 5w is M7y vau.
However there (seemingly) is not ¥211 9109 by w1 2w, for we find that the wife is
believed to bring her v3 and say 1"9211"53, so why is there an issue of m7va yan?!’

* The m>w will not be affected personally or monetarily whether we accept his testimony or not. It is rather a matter
of pride that his testimony be accepted; this is not considered wnn N17va va.
> See “Thinking it over’ # 1.
% See footnote # 5.
7 See footnote # 1.
¥ See n"n1.
? See 1"nx # 4.
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